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Seyemras : (1) Slameansg) elemss@nn sflunes Ldeund 2 GTansT eTanLgenet FMumissis
Gamerareyd. @gaiLSalsn Gonudmudear oimns sarsTafliiumeTLb
2 L aiqwrss Qgfelésayn.
(2) Beod od@g smUY  @wloa WL HGCW GT(LPSIGUS M (& LD
Sig&ECsTEHeusnEd LWaTUDES CouarBid. UL kiseT U reUSM &
Clueéled LGTLRSS6 .

Instructions:-: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Superv1sor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

G&OILY @ uGS-I (2u9f-greureiuich), LGS -II (2 -edamdud) saisseal eflengsmefe
afenLweflGsaib.
Note : Candidate should answer Part-I (Bio-Botany) 8 Part-II

(Bio-Zoology) in separate
answer-books.

UGS - I (2-uf-greureSwed) / PART - I (BIO-BOTANY)
(0SLClueTTaeT = 35) / (Marks : 35)

Yifley - 1/SECTION - 1

@Oy : ()  SIwesg alamssEnssn oo wualéseb.
(ii) Qar@ésuul_@erer wrHH elaLsafled g
CobEs0 5815 GHULGLar eflan ufenemy;

Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer fro
- and write the option code and the corres

8x1=8
YD FHyeLw eloLmus

) @Sﬁgg‘] GT(LPSYLD.

m the gjven four alternatives
Ponding answer.
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1. snps&eT 3fsse0 arang penafmes s Q&GD@J(éa’mal #

(=1) wrHHwuewdsiur L 2 aTeait euarilaney

(=) Geusionan oar’ L5558 &LpnH&)

(@) Qupers aumfiL curafleva Haa oifso

(/) e <My

Deforestation does not lead to

(/;1{ alteration of local weather conditions

quick nutrient cycling

(c) destruction of natural habitat weather conditions
(d) soil erosion

2. go&sML GO busmss Caibss!.
(1) QenGaGend) (<) @ULLGES
(@) xGuCuéd (7) BerB@uCré

Cardamom belongs to the family

(a) Solanaceae (b) Piperaceae

@ Fabaceae L}d')/ Zingiberaceae

3. FNGUIYEES JHD T UMS :

(1) LE®@ LET (<) safl egr
(@) wewre (FF)  euemTL 6 Loasr
] The ideal soil for Cultivation is :
! \La/f Loamy soil (b) Clayey soil
’ ((c), Sandy soil (d) - silt soil
AN
4. eoeuren DD STeUNhIGET & Qmbg 2 (HeurssLILHE amer.
(1) HGSHE ey (<) Qaed WHemaeu cuamitiiy

(@) yCrmGLmdlemmavl euemiiiy (FF) e miliy eueTiLiy
Virus free plants are developed from :

&/Meristem culture (b) Cell suspension culture
% Protoplast culture (d) Organ culture

i
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"@iBHw ugewL Y Auen sHms” erar DI p&aILH DT,
(<=1) M.S. Soumdprgen (<) P. wCseveu
(@) Querid (FF) Qmed Qgguwigmioen
is called as “Father of Indian Green Revolution”.
Jﬁ')/ M.S. Swaminathan (b) P. Maheswari
(c) Mendel (d) Nel Jayaraman
QLsuGrrdlwur QuimrwAwr gm

(=) 2090 smeTsQsToR6) (<=1) 2.W9A 2 gib
(@) s 271 () 2u9fl y&HsQamaa
Tephrosia purpurea is a

(a) Bio-herbicide (b) Bio-fertilizer

\Jé)/‘Green manure (d) Bio-pesticide

QerésuulReararaupdled argy Quep Cal L &S sraursmss GNsADS ?
(=) G Sa (=) &S

(8) smavar S& (F) s@LUeU

Which of the following represent Megagametophyte ?

(a) Nucellus (b) Ovule

(c) Endosperm . \@3/' Embryo sac

DG SO 2 @I TéGb uréeflum :

(1) erev@eM&dur Corane (=) Guéledavev Fligedav

(@) Guéleavav GNepflQwendlen () &Crm urdefwin WO Gulweine
The bacteria responsible for causing Crown Gall :

(a) Escherichia coli (b) Bacillus subtilis .
(c) Bacillus thuringiensis Mgrobacterium tumefaciens

[ dmLiys / Turn over
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| 9ifley - 2/SECTION - 2
GO : Spssmanip efamésalisr gGsamId HIETE AamésErs® ellmLwaisaa.
4x2=8
Note :  Answer any four of the following questions.
49.  evCLmAwibd erempmed eremen ?

What is Stomium ?

10. Qenanr Cargelern eUMEEMETS S(H5.

Give the types of Synapsis.

11. wrugy wMHPSHHE LwaL@SsLULEDL Caufl Qurmlseflar QuUWTsmeTs Fams.

Name the chemicals used in Gene Transfer.

12. PAR - erenmmmed Grevment ?

What is PAR ?

13. @pg@bgfﬂm@ 2ABpsiupszsoe @rarLmbilame iblwpsiiu@ss s mHs)
CopLBE.

Differentiate Primary introduction from Secondary introduction.

14. sl (U LAaTmOLD GTETDIE) eTeman ?

What is Co-evolution ?
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19fey - 3/SECTION - 3

@iy : Spssranin ellemssals aGs@Ib epetn elamssenie e Lelssajb.

e eTeRr 19 -&i@ SL_LMuLTs efeLwafsseib. N

Note : Answer any three of the following questions. Question No. 19 is Compulsory.

15. @L(Bze wpmb udublLe - Caunu®sgs.

Differentiate Grafting and Layering.

16. wywsdHar WsHwusgeumaser aamauGueaib pparPlaar UL iqweaHs.

List any three significance of ploidy.

17. aualls Gouerrar sT( euaTiliL epeb aueTTEsULGWL STEUTHRSGEREE BTeE
TH5G ST (HEMETS S(HE.

Give four examples for plants cultivated in commercial agroforestry.

18. cvenLimeSlenm GUED miewTapiudisaer QUETTILBH(E eThe GUTHLEET LwaTLHSSLI-
L&D ?

What are the materials used to grow micro-organism like Spirulina ?

19. 219 sarsrafiy upd A GHOY TLRSIS.

Write short notes on Bio-monitoring.

[ :é]@uu& / Turn over
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9fley - 4/SECTION - 4

GIINTEE Slmensgl AaTEsERS@n 6fenLwessa|D. 2x5=1

Note : Answer all the questions.

’g 20. (=)@mdm waTHss Caiéms woTseNd srariiL@b UGTLSHT WTael ?
LNV
(<) WPRPWLWDD QEIGSSETE O THEGIEET_(HLem 6llendEs.
(a) Give the characteristic features of Anemoﬁhilous plants.
‘ OR

(b) Explain the incomplete dominance with example.

!

21. (=) aupar Hleg sreurtisailan o dateolil SEeuMLLILG®maT T(PSIS.
360608

(%)ﬁwﬂﬁg G,r@g,@jfo Qm sreurtusaier QsweTéEs EPOLMHHS LHOID WHSSIe
\ @g@uggmgmgg (.

(a) Enumerate the anatomical adaptations of Xerophytes.
OR

(b) Give an account of active principle and medicinal values of any two plants .
you have studied,

1
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UGS - II/PART-II
(2-u9fl - eNlevridliev)/(BIO-ZOOLOGY)
(&UkluewrasT : 35)/(Marks : 35)
9fley - 1/SECTION - 1
GPuY : ()  Slewenss famssEnsEh el walssa. 8x1=8
(i) Qsr@ésuiul_@erer wrpm elaLsald Wsab gHymLL elmLmus
Cembos0ég5é GMUELGLer elaLulamanb Caiég er(pSa|w.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatllves
and write the option code and the corresponding answer. J

1.  ulcmeu e Crmb eyl SIWESLILHSADG.
(1) 13 - 1ganyGamibl (<=4) 18 - 1geyGamdl
(@) e Her Gymd () 21 - 1geppGemd

Patau’s Syndrome is also referred to as :

ﬁ’/‘ 13 - Trisomy (b) 18 - Trisomy

(c) Turner’s Syndrome (d) 21 - Trisomy

QupComir 2 Ledla QeuallLEHer QT Hs6T 2 (BHeuTseD Qeuairm AMPESLI-

2.
L@ &g)
(1) QegLbuse&aT () =15 A5
() gan-rse () up Sipse
If Buds are formed on the outer surface of the parent body, it is called as :
(a) Gemmules (b) Endogenous budding g
(c) Fragmentation Mxogenous budding

3. Sburailey SAHSD sraTlIL(eugl
(1) 1gD (<) IsE (@) IgM () IgA
Colostrum is rich in :
(a) IgD (b) IgE (c) IeM _ kA

[ &@Liys / Turn over
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4. Qe i’ Quyrenser eremug) :
(=1) 2097 erdlir QuiHL_ser
(=) urdleflw iyt QummmLser
(8) yesms erditiyls QummL_aer
(FF) eweure eyl QUL ser
Interferons are :
(a) anti-biotics
(b) anti-bacterial substances
(c) A anti-fungal substances

y ( anti-viral substances

5. smgmL wrsdarsefld sramiubeug :
(=1) Neorgadlen wHmib LGTTeNéig.co
(<=1) yGrmG@geviy Grme wHmID Frevl Grmggen
(@) yGrmAgavgGrmerm wHmib Aerseaier
() mavl Grmegerr wdmid Mevréedlem
Contraceptive pills contain :

(a) Relaxin and prolactin

:@/\Progesterone and estrogen
(c) Progesterone and relaxin
(d) Estrogen and relaxin

6. wailsafld Cepmlyadremer gouBsgIeUg

(1) YGymGLrGemeum (=) emeurev
(@) epang () ursefwr
The Athlete’s foot disease in human is caused by :
(a Protozoa (b) Virus

¢))| Fungi (d) Bacteria

7. amnfe fflelame wWle sbHamwwrer urELLEEREE 2-eTemrd)  oufluyn Hlenaudd
2 grer eflevmileid

(<) @@eunpeiser (<) LTI g ST

(®) L Csreasar (FF) UDEGUSET

The animals that are at high risk of extinction due to habitat destruction is :
@)\ Amphibians (b) Mammals

(c) Echinoderms (@ Birds
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8. glaflsafle LG hs eramOenTi) Sammaener Basl LIWETLHD QAprs) :

(=) Glac;i)@%]Ga)du (=) QusigGaav
(@) uGrmiigCuev () &liGuav
Enzyme used for removing oily stains from the clothes :
(a) Cellulase (b) Pectinase

/@ Protease _,(/dﬂ Lipase

. 9fey - 2/SECTION - 2
GO : gCGseIb mrsiE lamésEréE WLGD eioLwallssed.

Note : Answer any four of the following questions.

4x2=8

9. smUmLE sauflan ey SIBEGSET wramel ?
What are the three layers of uterine wall ?

10. wrugmd GHuSige ummardo GHSES6T eran SianipdsBL@a WT®a ?

Which are called as non-sense codons in genetic code ?

11. @6 ufammowb, o9 Lufemmob — CaunuBES!S:

Differentiate Convergent Evolution and Divergent Evolution.

12. @eUGLSEET P L &T&EHEE gHu@L Gpmisar crarauCugyh [Hrenslen
QuuismeTd FallS.

Name any four human viral diseases.

13. cdflaurésd SO
(é{) CFC
(cg;:{,) PAN
Give the expan
(a) CFC
(b) PAN

sion of :

Qeuli GaupurGeLw o A AamhiGaT eremea wremal ? aBSHESMB ST
14. Gonbled

g’ . i p .
What are Stellothel ms - GlVe eXal]l leS

Mal www.kalviexpress.in
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Yfley - 3/SECTION - 3

Gy : égggésasrr@m elamé s @ner aGseaib epem) AaT&ESHEHES e wef&s6LD.

e ereir 19 -&6@ SL_Lnuwns elen_walléseyl. 3x3=9
Note :  Answer any three of the following questions. Question number 19 is
Compulsory. :

15. Quotiy BULé ereimmmed eremes ? TOS55&55TLH SMHS-

What is meant by regeneration ? Give example.

16. @CrmGLnGemb QsmEliy euemruLsder LweaeT erareuGLELD PETHIET GT(LSIs.

~

Mention any three applications of karyotyping.

17. @hern QFd LTsd eTammmed creiean ? Sjeuplen LIWETHmeT 6T(Lps)s.

What is single cell protein ? Write its uses.

18. G 2.6 urglsTudnEL, Gue Geuafl urglsTulpEn @erCu o drer
Ceaupur@ser wrenel ?

What are the differences between in-situ and ex-situ conservation ?

19. apdir 2uifl Sassmar ugidés 2 gayb LdADET Gsrer Qewsdr wWrame 2
eupiler o15s 2 pusdéstan epeTSMILD 618 ?

What are the multipotent cells involved in replenishing adult tissue ? What is
the rich source for it ?
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19fley - 4/SECTION - 4
GOILY : Gemeumid eflemmés@emaE eNanwefldse,b. 2x5=10

Note : Answer the following questions.

20. (=) wafls elbg Qewedlar @iewliE@UL uLggILan afleufgaeyid.
36060
(=) uyCarm@Carmalan imwlionu sGHS LLSSIL6 aréEs.
(a) Describe the structure of human sperm with a neat labelled diagram.
OR

(b) Explain the structure of immunoglobulin with suitable diagram..

21. (@) yrs eHusHude, sufiGar siflomismar SLEGIeuHD (sl UkE eudlsEn
RNA -aneu LILGZIL 6 6SleTéEs.
SieVeVS

(<) 2-udflw Udeamsssarabla @UIDE Ww&dHw sTr@TLrar WLels
Qeswuour@smer aflosiiu®sgis.

(a) Explain the structure of RNA which plays a vital role in protein synthesis by
transferring amino acids with diagram.

OR
human activities causing biodiversity loss.

(b) List out the

-00o0-
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